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Sr. No. Section –A(MCQBased) Marks 

 fn, x, fodYiksa ls lgh mrj nsaA Marks as per 

Point 

20 

1 ¼?k½ mijksDr lHkh  (D) All of the above 1 vad  

2 ¼x½ Qjkgksa        (C) Pharaoh 1 vad  

3 ¼x½ 10            (C) 10 1 vad  

4 ¼x½  1948         (C) 1948 1 vad  

5 ¼x½   czwlsYl(C) Brussels 1 vad  

6 ¼?k½  jktLFkku(D) Rajashthan 1 vad  

7 ¼[k½  1992(B) 1992 1 vad  

8 ¼?k½  1973  (D) 1973 1 vad  

9  ¼[k½  xsgwW(B) Wheat 1 vad  

10  ¼x½  dkWMyk(C) Kandla 1 vad  

11  ¼x½  ftUuk(C) Jinnah 1 vad  

12 ¼[k½  dkSeqnh(B) Kaumudi 1 vad  

13 ¼x½  15 ekpZ(C) 15 March 1 vad  

 

14 ¼x½  lsok {ks=(C) Sevivce Sector 1 vad  

15 ¼x½  Hkkjrh; fjtoZ cSad(C) RBI 1 vad  

16 ¼?k½  MkWyj  (D) Dollar 1 vad  

17 ¼[k½  6    (B) 6 1 vad  

18 ¼x½  1 uoEcj 1947  (C) 1 Nov. 1947 1 vad  

19 ¼[k½  1980  (B)  1980 1 vad  

20 ¼d½  Hkkjr  (A) India 1 vad  

 



Section – B                                  M. M = 2 x 6 = 12 

 

Section – C                                 M. M = 4 x 2 = 8 

 fn, x, fodYiksa ls lgh mrj nsaA Marks as per Point 8 

27 1- cgqnyh; iz.kkyh 2- ftl iz.kkyh esa nks ls vf/kd 

ny gksrs gSA 3- tc nks ;k nks ls vf/kd ny feydj 

ljdkj cukrs gSA 4- rhu(i) Multiparty system (ii) A 

system in which there are more then two parites 

(iii) When two or more parties come together to 

form a government (iv) Three.  

1 + 1 + 1 + 1 = 4vad 4 

28 1- ,slh daifu;k tks ,d ls vf/kd ns”kksa esa mRiknu 

vkSj forj.k ij fu;a=.k j[krh gSA 2- cgqjk’Vªh; 

daifu;ksa }kjk fd;k x;k fuos”k dks fons”kh fuos”k 

dgrs gSA 3- cktkj ds utnhd gks vkSj lLrs Jfed 

miyC/k gksA 4- Hkwfe] Hkou] e”khu vkSj vU; midj.kksa 

1 + 1 + 1 + 1 = 4vad 4 

 fn, x, fodYiksa ls lgh mrj nsaA Marks as per 

Point 

12 

21 yksFky] dkyhcaxk] cukoyh (Lothal, Kalibanga, 

Banawali)  

1 + 1 = 2 vad  

22 jkse esa lM+dksa dk tky fcNk g] jkse dh lM+ds jkse dks 

vU; ns”k vkSj “kgjksa ls tksM+rh gSA(1. There is a 

network of roads in Rome 2. Rome’s Roads 

connect Rome to other countries and cities)  

1 + 1 = 2 vad   

23 vf/kd mitkÅ gS] ikS’kd rRoksa dh vf/kdrk (1. It’s 

more fertile 2. Has more nutrients)  

1 + 1 = 2 vad   

24 orZeku vkSj Hkfo’; dh ih<h ds fy, vkSj ikfjfLFkfrd 

,drk dh j{kk ds fy, vkjf{kr fd;k x;k {ks= (An 

area reserved for present and future generataion 

and protects ecological integrity)  

1 + 1 = 2 vad   

25 lÙkk dh “kfDr;ksa dk fofHkUu Lrj ij foHkktu 

(Division of powers at different levels.)  

1 + 1 = 2 vad   

26 ekax ds ek/;e ls tek jk”kh fudyokbZ tk ldrh gS 

vkSj psd ds ek/;e ls ,d LFkku ls nwljs LFkku ij ys 

tk Hkh ldrh gSA (Deposits can be withdrawn 

through demand and can be moved from one place 

to another through cheque. )  

1 + 1 = 2 vad   



dh [kjhn esa O;; dh xbZ jk”kh dk fuos”k djrs gSA 

(i) Companies that control production and 

distribution in more than one country. (ii) 

Investment made by multinational companies is 

called foreign investment (iii) Be close to the 

market and cheap labour is available. (iv) The 

amount spend in purchasing land, purchasing 

land, building, machines and other equipment is 

called investment.  

 Section – D M. M = 3 x 5 = 15 

29 1- eqgjs pdksj FkhA 2- eqgjs vk;rk dkj FkhA 3- eqgjksa 

ij i”kq & if{k;ksa  vkSj nsoh & nsorkvkas ds fp= cus 

gSaA (i) The pieces were square. (ii) The pieces 

were rectangular (iii) There were pictures of 

animals birds and gods and goddesses on the 

façade.  

1 + 1 + 1  = 3vad 3 

30 1- lalkj ds tUe&ej.k] la;ksx&fo;ksx] YkkHk &gkfu 

nq%[k gSA 2- lHkh izdkj ds nq[kks dk fuokj.k okluk 

gSA 3- okluk ls NqVdkjk gh nq[kks dk fuokj.k gSA 4- 

v’VekxZ ls nq[kksa ij fot; izkIr fd;k tk ldrk gSA 

(i) In this world there are births, deaths, 

coincidences and separations, gains and lasses 

and sorrows. (ii) Lust is the solution to all types 

of sufferings. (iii) Freedom from lust is the only 

solution to suffering.  (iv) Suffering can be 

overcame through of the eigh path.  

1 + 1 + 1  = 3vad 3 

31 1- ouksjksi.k 2- isM+ks dh j{kk es[kyk cukuk 3- moZjdksa 

dk lhfer iz;ksx (i) Afforestation (ii) making 

protective belts for three (iii) limited of 

fertilizers. 

1 + 1 + 1  = 3vad 3 



32- 1- ikuh dks ?kjks VSad es ikuh laxzfgr fd;k tkrk gSA 

2- Nr <yok gksrh gS tks ikbZi ds ek/;e ls VSad ls 

tksM+k tkrk gSA 3- o’kkZ dk igyk ty laxzfgr ugha 

fd;k tkrkA (i) Water is stored in household 

tanks. (ii) The roof is sloped which is connected 

to the tank through pipes. (iii) First rain water is 

not stored.  

1 + 1 + 1  = 3vad 3 

33- 1- yksdra= dks etcwr cukrs gSA 2- dsUnz ij vf/kd 

ncko ugha jgrkA 3- tu Hkkxsnkjh c<+rh gSA 4- 

jktuhfrd tkx:drk c<+rh gSA (i) Strengthen 

democracy (ii) There is not must pressure on the 

center (iii) Public participation increases. (iv) 

Political awarensess incerese.  

1 + 1 + 1  = 3vad 3 

 

Section – E                                 M. M = 5 x 3 = 15 

34- 1- uxj fuekZ.k ;kstuk 2- lqj{kk] LokLF;] LoPNrk ds {ks= esa ;ksxnku 3- cSyxkM+h vkSj 

uko&fuekZ.k 4- dkaL; /kkrq dk fuekZ.k 

(i) City construction plan. (ii) Contribution in the field of safely, health and hygine (iii) 

Bullock cart and new construction (iv) Manufacturing of bronze metal. 2 + 3  = 5vad 

 

vFkok 

 1- d`f’k dk QSyko  2- >we [ksrh foLrkj  3- [kuu  4- ouksa dks dkVuk 5- voS?k f”kdkj 

(i) Spread of agriculture (ii) Expansion of shifting cultivation (iii) Mining (iv) Cutting 

Forests (v) Illegal hunting.   

35- 1- ;g egkjk’Vª vkSj xqtjkr eas ikbZ tkrh gSA 2- ;g dikl ds fy, vf/kd mi;ksxh gSA 3- 

dkcZu dh vf/kdrk gksrh gSA 4- de flpkbZ dh vko”;drk gksrh gSA  

(i) It is found in Maharashtra nd Gujrat (ii) It is more useful for coton. (iii) There is 

excess of carbon (iv) Work requires irrigation.    2 + 3  = 5vad 

vFkok 

1- ouksa dks dkVuk  2- voS/k O;kikj  3- d`f’k dk foLrkj 4- taxyksa esa vkx yxuk 



(i) Cutting Forests (ii) Illegal business. (iii) Expansion of agriculture. (iv) Fire in the 

forests.  

36- 1- lafo/kku ds Hkkx & 8 esa 22 Hkk’kk,¡ gSA 2- fgUnh jktHkk’kk gS ftldks 14 flrEcj 1949 dks 

viuk;k x;kA  3- Hkkjr esa 40 izfr”kr yksx cksyrs gSA 4- rfeyukMq esa Mh- ,e- ds- }kjk fojks/k 

fd;k x;kA 

There are 22 languages in part 8 of the confitution. (ii) Hindi is the official language and 

it was adopted on 14 Sept. 1949 (iii) 40% people speak hindi in India. 2 + 3  = 5 vad 

vFkok 

1- ljdkj ds fofHkUu vaxks esa lka>snkjhA 2- lÙkk dh “kfDr dk fofHkUu Lrj ij foHkktu 3- 

Vdjko ls eqfDr 4- lÙkk esa leku Hkkxhnkjh 

(i) Partnership among different orgains of government. (ii) Division of power of 

authority (iii) Freedom from conflict at various levels. (iv) Equal sharing of power.  

37- ,p- Mh- vkbZ- % thou lwpdkad dh xq.kork dks ekuo fodkl lwpdkad dgrs gSA  

 1- nh?kZ vk;q 2- f”k{kk dk Lrj  3- izfr O;fDr vk; 

 HDI : Quality of life index is called human develop index. (i) Longevity (ii) Level of 

Education (iii) per capita income.     2 + 3  = 5vad 

vFkok 

 1- lqj{kk dk vf/kdkj 2- lquokbZ dk vf/kdkj3- pquus dk vf/kdkj 4- lwpuk dk vf/kdkj 5- 

f”kdk;r djus dk vf/kdkj 

 (i) Right to security (ii) Right to be heard (iii) Right to choose (iv) Right to information 

(iv) Right to complain 

38-           2 + 3  = 5vad 

 

 

 

 


